\:)\‘_. Ll
glin =
m= Y4 j‘:?_ j':éj
j’ﬂl V‘V‘](i"'i‘)
\j__b_, L{—(i'L)
\J_..é:-_ -3

lot The

l\ne-






\‘j,j\ - o (1-00)
Yy~ 4= 2 (1)

Mu\kpuj \937, : ’zj -<

—*‘)\ﬂ-lj-—*éz—o
o( ijwoto

Ute o lHemm Alpha

- dA-1

T»H)( - p\o“" \\j‘——- by - ZANY 0\/16& i~?j+610_















Q Qephrased = Fnd The "}_ﬂ/:ja/\‘/“ lines
e j—-ﬂ)LJr?-)L—JLLf a X = ad A=l

Show  Fhat -H@vl are e Same [ine.

y= L4225 =Tt

]:.. li“'{i"‘-fi
.\.] Tanmjr‘ Iqe
m={ A= jwl m=1 =71 4=0
fj_(j\_:_m(j ){t) j—’(j\ = m(j")(.‘)
L\,),l: i()tf‘) 3~o= \ (A1)
3_/1: j“'\ - A\
— O __i_f.v~ — O



‘A o‘{' ya’
@ ‘\(g\o/‘ma\ \.'r\e)

%ual elecdne pmlm\l‘m[
(owrve)

(owven Y= 217+ ¥
(Nofma\ l'ne S an I}\cl.‘naJ\‘af\ OL 357
Toad e normmal ine

Nokice Hhat F a Iine i inclined at ‘554’7

Len s S'aF{ s -l




= 2
= 1>
1= =
&(W LW 5:1/\/10\/“('(1 ‘.DO‘H’\ S\dﬂ.f) Sane oﬂ( ‘}'LJ—( )/“Vﬁ/l/\{f
VY\M\M o3 maeons. Chetl + | = 22
s 22 +8
B H=-1
S\
(: ._(i_ _ -
(i = &
=21 15 o BT
. A=—-2 1§ no
g So\u-\\()/\ Q@ Lolu}\or\
=2 j}~“f”3
y="1

y-4 = - (4-2)

\d“.{* L (h-)
f9+41 -
_1f\j+(o: <



